024495 =

Al A

A2 DlERHA DS SA: DIERH2
MM CXEHMOITeIRAE (S| =/ U8 |=det
el CIXNEEHSHdEA (SH9 H2)
AR R BB B(3H) - MSAY - BES 0l arey dix HIRS2
d= - A - R F g . 0l & =
DIEHH A D52 69,507,207 74,765,431 A5,258,224
HIEFHHAS A D} 3,808,373 5,129,410 N1,321,037
CIXEAMoITel A= (S| =/ 08 )= et 570,449 0 570,449
CIRNEEE=L4LUXR 570,449 0 570,449
CIXEEHMXALRFE 170,449 0 170,449
201 LEt2AH| 70,000 0 70,000
01 AtR2teld| 70,000 0 70,000
Ost4=ZH| 70,000
OHEHA NS EEIMMES 40,000
OHIEIHASAMESZI|IEMNBROS 30,000
203 R =&IH| 10,449 10,449
03 AIBHF=EHR2=KRIH| 10,449 10,449
OCXNEZHRN=EHRFA 10,449
307 S1Zto| & 50,000 50,000
2 QI2ZHEAMAIEE X 50,000 50,000
CIHEHH A DS AR X 50,000
308 AXIHHSOIA 40,000 40,000
13 S| 2SHICHSZ A X EAISHI 40,000 40,000
OCIKNEdBESEEHRFA 40,000
AMACIKNENMESH AKX A (2R E X)) 200,000 200,000
308 AXISHHSOIA 200,000 200,000
01 AIXHMEANEEZ 200,000 200,000
CIMHCIXNE M2 S X2 EE K& AFS 200,000
S=CIXNE NS DA SHAALS 200,000 200,000
308 AXIHMSOIA 200,000 0 200,000
13 SISO CHEHE A X R EFALSHI 200,000 0 200,000
OF=CXNENEX DL EAAS 200,000
HEtZ STt R (s |s/Ws) | =8t 1,190,320 0 1,190,320
HEtE=E=24LX3 1,190,320 0 1,190,320
HEIESEXJASERFZ 4,320 0 4,320
203 YR =ZIH| 4,320 0 4,320
03 AIBHF=EHR2=KRIH| 4,320 0 4,320
OHEIESEAELRFN 4,320
ZAHUISKsEHSXIA 100,000 0 100,000
308 XAXIHHSOIA 100,000 100,000
13 SIS CHSHZ A X R EAISHI 100,000 100,000
OZA=EEZHUCI S SHAEEZAIS 100,000
CIXIZgX™ES MDA & XKAASA 100,000 0 100,000
308 AXIHHSOIA 100,000 100,000
13 S| 2SS A EREAIS I 100,000 100,000
CCIREXMESHAD D& XA 100,000
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U RA B O9I(S) - MRAY - BAS A HIDEZ
BIEBi-ZSMERALIE2E 100,000 100,000
308 XHXIEMSOIH 100,000 100,000
18 SISO YA A A 100,000 100,000
LOIEBi-ZSMERAZT IE2E 100,000
HIEHHA B XA (S E R 100,000 100,000
307 gl2to| & 100,000 100,000
2 QIABAASRE 100,000 100,000
CIOIEHH AR K| 100,000
El)IlE ESEAMAMHI AR A 186,000 0 186,000
&
308 XXM SOIA 186,000 186,000
1B B3I 12S0terE & 186,000 186,000
DCIII%EE%*&'A—IH
& 186,000
AIELCINESHEAH 600,000 0 600,000
308 AXIHS0IA 600,000 600,000
1B BII2SoteE&H feefa] 600,000 600,000
LoIEtH Al 018 e A(XS&HI) 300,000
=SS HEHAAHA SNA(KS
&Hl) 300,000
BIEtZEZREQI DR = (151 1,944,320 5,129,410 A3,185,090
HEtZZHESHAXH 1,944,320 5,129,410 A\3,185,090
BIEtZ2HEX LR 4,320 0 4,320
203 HR=AH] 4,320 0 4,320
03 A=A PR FA| 4,320 0 4,320
OHEZSHMENEH RN 4,320
HEHHAXNEMEIZ S 100,000 4,900,000 4,800,000
308 AHXIHMSO0IA 100,000 4,300,000 4,200,000
13 SI12S0He 4 A AS A 100,000 4,300,000 24,200,000
OHEHAMEMEZ2E 100,000
SN F S HAHHEHHAOBSHHIDI2E 700,000 700,000
308 AtXIEMSOIH 700,000 700,000
B3I ZSote o HAS 700,000 700,000
OZSE Mg S A A UHEH A0SO
29 700,000
BIEIESZe0IHATZHMETNS 350,000 350,000
308 AtXIEMSOIE 350,000 350,000
1B BIIA2SHUe B &4H 360,000 360,000
Uoetgd=sgeogan 360,000
SMOIEHH A IH A AR F 150,000 0 150,000
308 XtXIEMSO0IE 150,000 150,000
18 SIS0t A 180,000 180,000
O=HMOHEHAH TS A 150,000




D OIEtH A S =

Za: QEHZR QI T RE(DE| /DS U )
Sl NEHZZHMESHUXY (Shol: % 2)
AR SN O(BH) - NRAY - BAS ofl b dE= HDS2
4= - 2A - 35 = g . 0l &t =
ZEHEIHAHEZSHZ S AIE (3EHAH) 500,000 500,000
308 AXIHHSOIA 500,000 500,000
13 S| 2SS ZBAERAEAIZ LI 500,000 500,000
OEA2HEHHANEZHZE RS AL (3SHA) 500,000
I=HEIHANESHS R A ES, 140,000 140,000
308 AXIHHSOIA 140,000 0 140,000
13 37| 2SSt EAEHIEAIS I 140,000 0 140,000
COH=SHEIHAHEEZEHZES X E 2| 140,000
SHHSAAH|(HIEHHAS A (DIEHJIE 103,284 0 103,284
=4| 103,284 0 103,284
J|l2&h| 103,284 0 103,284
201 LBt AH| 21,840 0 21,840
01 AtR22teld| 21,840 0 21,840
Yet~2H| 8,400
OANREEL=E L] 8,400
O=&| 13,440
O RF=AZAH| 13,440
202 04| 40,044 40,044
01 =ZLH Y| 40,044 40,044
O R2FA =AY 40,044
203 YR =ZIH| 9,600 9,600
01 J|A2HH 2= 6,600 6,600
=& 6,600
M4 FASIL R 3,000 0 3,000
[115210(5t 3,000
204 2R 4= AH| 31,800 31,800
01 M Z LR+ HH| 31,800 31,800
O=& 10,800
NSy 21,000
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HIEHH A D812
el metR=R(Ue)s/e|s
sevessne o921
224 - B - S9I(30) - ARAY - BAS A HIDEZ
308 XXM SOIH 600,000 600,000
01 XN BELES 600,000 600,000
Outeolso1erl 600,000
SSEXIIXIXIZAAS 180,000 170,000 10,000
403 MR SHHSA=20 180,000 170,000 10,000
01 MHXIHH A 22 180,000 170,000 10,000
U=e=sdEHdg 100,000
O a2 80,000
SHMAI LI =T 4,320 4,320
203 HR=&H] 4,320 4,320
03 A=A R =NH] 4,320 4,320
Oishlsdggesd 4,320
ANsZ2RMLFEHRE 450,000 370,000 80,000
307 el2tol & 190,000 200,000 10,000
02 2B YAIHE A 190,000 200,000 10,000
LA ESEREHINLRIIS 190,000
308 AtXIEMSOIE 260,000 170,000 90,000
01 HAHHBSExRS 260,000 170,000 90,000
OXsgsgE82RI) =887 180,000
Let=Xs=RI XA 80,000
b= EN=PSE=peDIE-P) = ONR P R=s 200,000 300,000 100,000
308 XXM SOIA 200,000 300,000 100,000
01 XN BSELS 200,000 300,000 100,000
ONASHEISESI =0 200,000
ADESMHERSHEIISHLE(ER 598,200 720,000 121,800
OB
403 AXIEHMIS A= 598,200 720,000 121,800
01 MHXIHH A =22 598,200 720,000 121,800
OANEESMER
NS AL 598,200
SDIXHHIBHE 2l Q1 2-2 2 & & o 52,000 52,000 0
IR )
308 AXIHSOIA 52,000 52,000
01 XM a2 52,000 52,000
&I XHHBHEL 2|
=L ALY 52,000
NANEUC-EHSEEASE (20t 200,000 320,000 120,000
307 212+01& 200,000 320,000 120,000
02 QIS ER 200,000 320,000 120,000
OS8staUes8el =SS EAY 200,000
AT AR ZAAMNZRAIABNLAIS (2R EXA) 75,000 75,000
308 XXM SOIA 75,000 75,000
01 MRS SEXS 75,000 75,000
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o HIEtHA LS = SAEDIsn
DOAED | TR F (D S/ e =)
D HHMEEHERE (SH9 H2)
T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
CIBRIXISICR O LI S E I HSoCE X B
A2 60,000
AIMBIAZRESXI2 ALY 44,820 0 44,820
308 AHAIEMSOIE 44,820 0 44,820
01 MAHHBSEEXS 44,820 0 44,820
CAIMBIAZRES KA B AN 44,820
=S HEE MNP SN FAH2E 100,000 0 100,000
308 AFAIEHMSOIE 100,000 0 100,000
01 AN N B2 LS 100,000 0 100,000
O=t3d 858 A S HIFAH2E 100,000
A2 2ESRYMNEAFNZ AL 300,000 0 300,000
308 XXM SOIA 300,000 0 300,000
01 XN B2 LS 300,000 0 300,000
UES=222 RN NS 2SS AL 300,000
INE: DA E=g= Falges e 200,000 0 200,000
308 AXIMSOIA 200,000 0 200,000
01 HASHHBSEEXS 200,000 0 200,000
OESANEMMI IS DS XA 200,000
D=2 ERS 960,000 1,362,131 A402,131
=l SYRFA 20,000 47,131 A27,131
201 223 20,000 20,000 0
01 At22t2ltl 20,000 20,000 0
g et+=ZH| 20,000
Os=22RIEEZHAFTRAUS 20,000
FEUSISAIHES 245,000 200,000 45,000
308 AHAIEMSOIE 245,000 0 245,000
183 S 2SS AEAIE 245,000 0 245,000
OBSEusidgsd 245,000
IS UESZ A 50,000 80,000 30,000
307 212+01& 50,000 80,000 30,000
04 QIZIHAIAIH E X 50,000 80,000 230,000
OZSUSNALHLHY SIS AL KR 50,000
USRI 200,000 250,000 /50,000
308 XXM SO0l 200,000 250,000 250,000
01 XN BSELES 200,000 250,000 50,000
LE=sus=8I1z 200,000
NSt 2ot 2SR AAS (ST XH) 225,000 225,000
308 AHAIEMSOIE 225,000 225,000
18 SIS0t HAS A 225,000 225,000
OXS stz d etk 2 225,000
MES N AAIS TR (I EXIR) 100,000 80,000 20,000
307 212+01& 100,000 80,000 20,000
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A2 IEH A DR A SS=Bl !
BE: 4TI TRLDE (TS| &/ S| =)
ool ARAIAR AT (el mel)
AR 2A BB S2(BH) - MRAY - BES Ofl Oﬁ]gﬁ HnE2
ECENERE 487,500
XIS CTOI L= HIOlE A O1 I R A (ROHRI B I R) 189,750 189,750
308 XXISHHISOI 189,750 89,750
01 RXISHBLEES 189,750 189,750
IR 1CTOl = 101 A AR O X RALRS 189,750
WA TSN (2R ENY) 150,000 90,000 60,000
308 XHXI SIS0/ 150,000 9,000 60,000
01 XX SHBA 2 ZES 150,000 %,000 60,000
OSIE At S ST /A 150,000
ITOI S Z AT RAR (2R E ) 50,000 50,000 0
307 212H0| & 50,000 50,000
VIR PONETES 50,000 50,000
DITO S SR RAY 50,000
NS TS 3Ha A2 THS S AL (RO T RIR) 40,000 40,000
308 XIXISHAISO0IH 40,000 40,000
01 RXISHBLEES 40,000 40,000
DXAX SBHai o2 AL 40,000
ICTS R Al TRL P& (Wat)| /el 2 e 16,552,400 15,087,815 1,464,585
TS ML U 16,562,400 15,087,815 1,464,586
NSEEHMAT R AL AR (2R FRIY) 30,000 30,000 0
307 212H0|& 30,000 30,000 0
IR PONETES 30,000 30,000 0
ONSEEN0 AT 212 LAY 30,000
AHASSTELALSHE (FIREXR) 1,007,800 3,513,340 2,505,540
308 XXIEHHISOI 334,000 2,055,340 A1,721,340
01 XXISHHBA2E 264,000 0 264,000
DADIETJRIESAMIIRST 264,000
18 BII2S0IThEHE & X EAI Y| 70,000 2,085,340 A1,985,340
DR HSSTEAANLSL(BHE) 70,000
408 RXISHHI STH20I & 673,800 1,458,000 AT84,200
01 XX = 2 = 673,800 1,458,000 784,200
DEIIXXAHRESHARIR ST 673,800
ARSI 103,000 1,320,000 A1,217,000
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